

# Solutions for Higher Order Cauchy Difference Equation in Free Monoid

M. Pradeep<sup>1</sup>, S. Bala<sup>2</sup>

<sup>1</sup>PG and Research Department of Mathematics, Arignar Anna Government Arts College, Cheyyar-604407, India, Email: pradeepmprnet12@gmail.com

<sup>2</sup>PG and Research Department of Mathematics, S.I.V.E.T. College, Chennai-600073, India, Email: yesbala75@gmail.com

Received: 10.04.2024

Revised : 12.05.2024

Accepted: 22.05.2024

## ABSTRACT

Let  $h: P \rightarrow Q$  is a Function, where  $P$  is a Group with respect to multiplication and  $Q$  be an Abelian Group with respect to addition. In this article, the  $m^{\text{th}}$  Order Cauchy Difference Equation

$$h^{(m)}(p_1, p_2, p_3, \dots, p_{m-1}) = h(C_{m+1}(\prod_{j=1}^{m+1} p_j))$$

$$h(C_1(\prod_{j=1}^{m+1} p_j)) + \dots + (-1)^m h(C_1(\prod_{j=1}^{m+1} p_j)), \forall p_1, p_2, \dots, p_{m+1} \in P$$

is discussed, where  $h(C_r(\prod_{j=1}^m p_j))$  as function of combination  $r$  at a time from  $m$  objects. we find solutions of  $D^{(m)}h = 0$  in Free Monoid.

**Keywords:** Cauchy Difference Equation; Free Monoid, Abelian Group

## INTRODUCTION

From [1] we know that Jensen's Equation

$$h(p + q) + h(p - q) = 2h(p) \tag{1.1}$$

along  $h(0) = 0$ , equal to Cauchy's (Functional) Difference Equation  $h(p + q) = h(p) + h(q)$  in  $R$ . Let  $e \in P$  and  $0 \in Q$  are identity.

For  $h: P \rightarrow Q$ , Cauchy Difference  $D^{(n)}h$ , defined by

$$D^{(0)}h = h, \tag{1.2}$$

$$D^{(1)}h(b_1, b_2) = h(b_1 b_2) - h(b_1) - h(b_2) \tag{1.3}$$

$$D^{(n+1)}h(b_1, b_2, \dots, b_{n+2}) = D^{(n)}h(b_1, b_2, b_3, \dots, b_{n+2})$$

$$-D^{(n)}h(b_1, b_3, \dots, b_{n+2}) - D^{(n)}h(b_2, b_3, \dots, b_{n+2}) \tag{1.4}$$

where  $D^{(1)}h$  denoted as  $Dh$ . In [20, 21, 10], General Solution of 2<sup>nd</sup> and 3<sup>rd</sup> order CDE discussed in Free Groups.

In this article, Consider (functional) Cauchy Difference Equation:  $h(C_{m+1}(\prod_{j=1}^{m+1} p_j))_{j=1}$

$$h(C_m(\prod_{j=1}^{m+1} p_j)) + \dots + (-1)^m h(C_1(\prod_{j=1}^{m+1} p_j)) = 0 \tag{1.5}$$

$\Rightarrow$  from (1.4) that (1.5) equals  $D^{(m)}h = 0$ . The solution of equation (1.5) define

$$\text{Ker}D^{(m)}(P, Q) = \{h : P \rightarrow Q | h \text{ satisfies } (1.5)\} \tag{1.6}$$

## Remark 1

1.  $\text{Ker}D^{(m)}(P, Q)$  is Abelian Group under Addition;
2.  $\text{Hom}(P, Q) \leq \text{Ker}D^{(m)}(P, Q)$

## 2. Properties of Solution for $m^{\text{th}}$ Order CDE

**Lemma 1** Suppose  $h \in \text{Ker}D^{(m)}(P, Q)$ . Then

$$h(e) = 0, \tag{2.1}$$

$$Dh(b_1, b_2) = 0, \quad \text{when } b_1 = e \text{ or } b_2 = e \tag{2.2}$$

$$D^{(2)}h(b_1, b_2, b_3) = 0, \quad \text{when } b_1 = e \text{ or } b_2 = e \text{ or } b_3 = e \tag{2.3}$$

.....

$$D^{(m-1)}h(b_1, \dots, b_m) = 0, \quad \text{when } b_1 = e \text{ or } b_2 = e \text{ or } \dots \text{ or } b_m = e \tag{2.4}$$

$$D^{(m-1)}h \quad \text{is Homomorphism w.r.t every variable} \tag{2.5}$$

$$h(b^m) = mC_1h(b) + mC_2Dh(b, b) + mC_3D^{(2)}h(p, p, p) \dots + mC_m$$

$$D^{(m-1)}h(b, \dots, b(m \text{ times})) \quad (2.6)$$

for every  $b_1, \dots, b_m \in P$  and  $m \in \mathbb{Z}$ .

**Proof** Put  $b_1 = e$  in (1.5)  $\Rightarrow$  (2.1). Then,

From (2.1)  $\Rightarrow$  (2.2)-(2.4)

$$\begin{aligned} Dh(b_1, e) &= h(b_1e) - h(b_1) - h(e) \\ &= h(b_1) - h(b_1) \\ &= 0 \end{aligned}$$

In the same way we get

$$Dh(e, b_2) = 0,$$

$$D^{(2)}h(e, b_2, b_3) = h(eb_2b_3) - h(eb_2) - h(eb_3) - h(b_2b_3) + h(e) + h(b_2) + h(b_3) = 0$$

, In the same way we get

$$D^{(2)}h(b_1, e, b_3) = 0,$$

$$D^{(2)}h(b_1, b_2, e) = 0,$$

.....

$$D^{(m-1)}h(e, \dots, b_m) = 0,$$

$$D^{(m-1)}h(b_1, e, \dots, b_m) = 0,$$

$$D^{(m-1)}h(b_1, \dots, e) = 0.$$

Also, by definition of  $D^{(m-1)}h$ , we have

$$\begin{aligned} D^{(m-1)}h(b_1, b_2, b_3, \dots, b_{m+1}) &= h(b_1 \dots b_{m+1}) - h(b_1 \dots b_m) - h(b_1 \dots b_{m-2}b_{m+1}) \\ &\quad - \dots - h(b_1b_4 \dots b_{m+1}) - h(b_2b_3 \dots b_{m+1}) \\ &\quad + \dots \\ &\quad + (-1)^m [h(b_1) + h(b_2b_3) + h(b_4) + \dots + h(b_{m+1})] \end{aligned}$$

and

$$\begin{aligned} &D^{(m-1)}h(b_1, b_2, b_4, \dots, b_{m+1}) + D^{(m-1)}h(b_1, b_3, b_4, \dots, b_{m+1}) \\ &= h(b_1b_2b_4 \dots b_{m+1}) - h(b_1b_2b_4 \dots b_m) - h(b_1b_2b_4 \dots b_{m-1}b_{m+1}) \\ &\quad - h(b_1b_4 \dots b_{m+1}) - \dots - h(b_2b_4 \dots b_{m+1}) \\ &\quad + \dots \\ &\quad + (-1)^m [h(b_1) + h(b_2) + h(b_4) + \dots + h(b_{m+1})] \\ &\quad + h(b_1b_3b_4 \dots b_{m+1}) - h(b_1b_3b_4 \dots b_m) - h(b_1b_3b_4 \dots b_{m-1}b_{m+1}) \\ &\quad - h(b_1b_3b_4 \dots b_{m-1}b_{m+1}) - \dots - h(b_1b_4 \dots b_{m+1}) - h(b_3b_4 \dots b_{m+1}) \\ &\quad + \dots \\ &\quad + (-1)^m [h(b_1) + h(b_3) + h(b_4) + \dots + h(b_{m+1})] \end{aligned}$$

From easy simplification,

$$\begin{aligned} &D^{(m-1)}h(b_1, b_2, b_3, \dots, b_{m+1}) - D^{(m-1)}h(b_1, b_2, b_4, \dots, b_{m+1}) \\ &- D^{(m-1)}h(b_1, b_3, b_4, \dots, b_{m+1}) = D^{(m)}h(b_1, b_2, b_3, \dots, b_{m+1}) = 0 \end{aligned}$$

$\Rightarrow D^{(m-1)}h(\cdot, b_2, \dots, b_m)$  is Homomorphism.

Similarly, we can prove  $D^{(m-1)}h(b_1, \cdot, b_3, \dots, b_m)$ ,  $\dots$ ,  $D^{(m-1)}h(b_1, \dots, \cdot, b_m)$  and  $D^{(m-1)}h(b_1, \dots, b_{m-1}, \cdot)$  are homomorphism.

Hence, which is proved (2.5).

Now Take (2.6).

(2.6) is true for  $n = 0, 1, 2$  from (2.1) and from Dh Definition.

Assume that (2.6) true for  $k = m-1 \geq 2$ ,  $k \in \mathbb{N}$  then

$$\begin{aligned} h(b^m) &= h(bbb \dots b(m \text{ times})) \\ &= m h(bb \dots b(m-1 \text{ times})) - mC_{m-2} h(bb \dots b(m-2 \text{ times})) \\ &\quad + mD_{m-3} h(bb \dots b(m-3 \text{ times})) - \dots + (-1)^m m h(b) \\ &\quad + D^{(m-1)}h(b, b, \dots, b(m \text{ times})) \\ &= m h(b^{m-1}) - mD_{m-2} h(b^{m-2}) + mD_{m-3} h(b^{m-3}) \\ &\quad - \dots + (-1)^m m h(b) + D^{(m-1)}h(b, b, \dots, b(m \text{ times})) \\ &= m [(m-1) h(b) + (m-1)D_2 Dh(b, b) + (m-1)D_3 D^{(2)}h(b, b, b) \\ &\quad + \dots + (m-1)D_{m-1} D^{m-2}h(b, b, \dots, b(m-1 \text{ times}))] \\ &\quad - mD_{m-2} [(m-2) h(b) + (m-2)D_2 Dh(b, b) + (m-2)D_3 D^{(2)}h(b, b, b) \\ &\quad + \dots + (m-2)D_{m-2} D^{m-3}h(b, b, \dots, b(m-2 \text{ times}))] \\ &\quad + mD_{m-3} [(m-3) h(b) + (m-3)D_2 Dh(b, b) + (m-3)D_3 D^{(2)}h(b, b, b) \\ &\quad + \dots + (m-3)D_{m-3} D^{m-4}h(b, b, \dots, b(m-3 \text{ times}))] \\ &\quad - \dots + (-1)^m m h(b) + D^{(m-1)}h(b, b, \dots, b(m \text{ times})) \end{aligned}$$

$$= m h(b) + mD_2 Dh(b, b) + mD_3 D^{(2)}h(b, b, b) + \dots + mD_m D^{(m-1)}h(b, \dots, b(m \text{ times}))$$

when we used the definition of  $D^{(m-1)}h$  and (2.5)  $\Rightarrow$  (2.6) for all  $m \geq 0$ .

From (1.4) and (2.1), for any fixed integer  $m > 0$ , we have

$$h(b^{-m}) = -m h(b) + -mD_2 Dh(b, b) + -mD_3 D^{(2)}h(b, b, b)$$

+ ... +  $-mD_m D^{(m-1)}h(b, \dots, b(m \text{ times}))$  from (2.5) and the above result for  $m > 0$ . (2.6) is true for  $m < 0$ .

**Remark 2**

The following are pairwise equivalent for  $h: P \rightarrow Q$ :

- (i)  $h \in \text{Ker}D^{(m)}(P, Q)$ ;
- (ii)  $D^{(m-1)}h(., b_2, \dots, b_m)$  is Homomorphism;
- (iii)  $D^{(m-1)}h(b_1, ., b_3, \dots, b_m)$  is Homomorphism;
- .....
- (iv)  $D^{(m-1)}h(b_1, \dots, ., b_m)$  is Homomorphism;
- (v)  $D^{(m-1)}h(b_1, \dots, b_{n-1}, .)$  is Homomorphism;

**Proposition 1** Suppose that  $h \in \text{Ker}D^{(m)}(P, Q)$ . Then

$$h(b_1^{m_1} b_2^{m_2} \dots b_t^{m_t}) = \sum_{1 \leq j \leq t} [m_j h(b_j) + m_j D_2 Dh(b_j, b_j) + m_j D_3 D^{(2)}h(b_j, b_j, b_j) + \dots + m_j D_m D^{(m-1)}h(b_j, b_j, \dots, b_j(m \text{ times}))] + \sum_{1 \leq j_1 < j_2 \leq t} Dh(b_{j_1}^{m_{j_1}}, b_{j_2}^{m_{j_2}}) + \sum_{1 \leq j_1 < j_2 < j_3 \leq t} m_{j_1} m_{j_2} m_{j_3} D^{(2)}h(b_{j_1}, b_{j_2}, b_{j_3}) + \dots + \sum_{1 \leq j_1 < j_2 < \dots < j_m \leq t} m_{j_1} m_{j_2} \dots m_{j_m} D^{(m-1)}h(b_{j_1}, b_{j_2}, \dots, b_{j_m}) \tag{2.7}$$

for  $m_j \in Z$  and every  $p_j \in P, j = 1, 2, \dots, t$  such that  $b_i \neq b_{i+1}, i = 1, 2, \dots, t - 1$

**Proof** To prove the Proposition the following lemma used, which was proved in [20]

**Lemma 2** The following identity is valid for function  $h: P \rightarrow Q$  and  $t \in N$ ;

$$h(b_1 b_2 \dots b_t) = \sum_{m \leq t} \sum_{1 \leq j_1 < j_2 < \dots < j_m \leq t} D^{(m-1)}h(b_{j_1}, b_{j_2}, \dots, b_{j_m}) \tag{2.8}$$

Replace  $b_j$  in (2.8) by  $b_j^{m_j}$ , we have

$$h(b_1^{m_1} b_2^{m_2} \dots b_t^{m_t}) = \sum_{m \leq t} \sum_{1 \leq j_1 < j_2 < \dots < j_m \leq t} D^{(m-1)}h(b_{j_1}^{m_{j_1}}, b_{j_2}^{m_{j_2}}, \dots, b_{j_m}^{m_{j_m}})$$

The vanish of  $D^{(n-1)}h$  for  $n \geq (m + 1)$  yields

$$h(b_1^{m_1} b_2^{m_2} \dots b_t^{m_t}) = \sum_{1 \leq j \leq t} h(b_j^{m_j}) + \sum_{1 \leq j_1 < j_2 \leq t} Dh(b_{j_1}^{m_{j_1}}, b_{j_2}^{m_{j_2}}) + \sum_{1 \leq j_1 < j_2 < j_3 \leq t} D^{(2)}h(b_{j_1}^{m_{j_1}}, b_{j_2}^{m_{j_2}}, b_{j_3}^{m_{j_3}}) + \dots + \sum_{1 \leq j_1 < j_2 < \dots < j_m \leq t} D^{(m-1)}h(b_{j_1}^{m_{j_1}}, b_{j_2}^{m_{j_2}}, \dots, b_{j_m}^{m_{j_m}})$$

Therefore, From (2.6) and (2.5), we have

$$h(b^{m_j}) = m_j h(b_j) + m_j D_2 Dh(b_j, b_j) + \dots + m_j D_m D^{(m-1)}h(b_j, b_j, \dots, b_j(m \text{ times}))$$

$$D^{(2)}h(b_{j_1}^{m_{j_1}}, b_{j_2}^{m_{j_2}}, b_{j_3}^{m_{j_3}}) = m_{j_1} m_{j_2} m_{j_3} D^{(2)}h(b_{j_1}, b_{j_2}, b_{j_3})$$

.....

$$D^{(m-1)}h(b_{j_1}^{m_{j_1}}, b_{j_2}^{m_{j_2}}, \dots, b_{j_m}^{m_{j_m}}) = m_{j_1} m_{j_2} \dots m_{j_m} D^{(m-1)}h(b_{j_1}, b_{j_2}, \dots, b_{j_m})$$

This is (2.7). Hence the proof.

**Solution for m<sup>th</sup> order CDE in a Free Monoid**

By [18, 24], from the embedding system of Free Monoid into Free Group In this part, Initially, we find solution of (1.5) for P which is Free Monoid on a onlyone character p.

**Theorem 1** Suppose that define Free Monoid P on a single character p. Then  $h \in \text{Ker}D^{(m)}(P, Q)$  iff

$$h(p^m) = m h(p) + mD_2 Dh(p, p) + mD_3 D^{(2)}h(p, p, p) + \dots + mD_m D^{(m-1)}h(p, p, \dots, p(m \text{ times})) \quad \forall m \in W \quad (3.1)$$

**Proof**  $\Rightarrow$ .

Assume that  $h \in \text{Ker}D^{(m)}(P, Q)$

From (2.6)  $\Rightarrow$

$$h(p^m) = m h(p) + mD_2 Dh(p, p) + mD_3 D^{(2)}h(p, p, p) + \dots + mD_m D^{(m-1)}h(p, p, \dots, p(m \text{ times})) \quad \forall m \in W$$

$$\Leftarrow. \text{Take } h(p^m) = m h(p) + mD_2 Dh(p, p) + mD_3 D^{(2)}h(p, p, p) + \dots + mD_m D^{(m-1)}h(p, p, \dots, p(m \text{ times})) \quad \forall m \in W$$

as the dfn., of h on  $P = \langle p \rangle$ .

To Prove:  $h \in \text{Ker}D^{(m)}(P, Q)$

i.e., we want to prove that  $D^{(m-1)}h$  is Homomorphism w.r.t. every variable.

Let

$$y_1 = p^{n_1}, y_2 = p^{n_2}, \dots, y_m = p^{n_m}$$

be m elements of P.

From (1.4) and (3.1)  $\Rightarrow$

$$\begin{aligned} D^{(m-1)}h(y_1, y_2, \dots, y_m) &= D^{(m-1)}h(p^{n_1}, p^{n_2}, \dots, p^{n_m}) \\ &= h(p^{n_1+n_2+\dots+n_m}) - h(p^{n_1+n_2+\dots+n_{m-1}}) - h(p^{n_1+\dots+n_{m-2}+n_m}) \\ &\quad - \dots - h(p^{n_2+\dots+n_m}) + \dots \\ &+ (-1)^m [h(p^{n_1}) + h(p^{n_2}) + \dots + h(p^{n_m})] \\ &= M_1 h(p) + M_1 D_2 Dh(p, p) + \dots + M_1 D_m D^{(m-1)}h(p, p, \dots, p(m \text{ times})) \\ &\quad - M_2 h(p) - M_2 D_2 Dh(p, p) - \dots - M_2 D_m D^{(m-1)}h(p, p, \dots, p(m \text{ times})) \\ &\quad - M_3 h(p) - M_3 D_2 Dh(p, p) - \dots - M_3 D_m D^{(m-1)}h(p, p, \dots, p(m \text{ times})) \\ &\quad - M_4 h(u) - M_4 D_2 Dh(p, p) - \dots - M_4 D_m D^{(m-1)}h(p, p, \dots, p(m \text{ times})) \\ &\quad - \dots \\ &\quad + (-1)^m n_1 h(p) + n_1 D_2 Dh(p, p) + \dots + n_1 D_m D^{(m-1)}h(p, p, \dots, p(m \text{ times})) \\ &\quad + n_2 h(p) + n_2 D_2 Dh(p, p) + \dots + n_m D_m D^{(m-1)}h(p, p, \dots, p(m \text{ times})) \\ &\quad + \dots \\ &\quad + n_m h(p) + n_m D_2 Dh(p, p) + \dots + n_m D_m D^{(m-1)}h(p, p, \dots, p(m \text{ times})) \end{aligned}$$

Where  $M_1 = n_1 + n_2 + \dots + n_m, M_2 = n_1 + n_2 + \dots + n_{m-1}, M_3 = n_1 + \dots + n_{m-2} + n_m, M_4 = n_2 + \dots + n_m, \dots$

From very lengthy calculation, we have

$$D^{(m-1)}h(p^{n_1}, p^{n_2}, \dots, p^{n_m}) = n_1 n_2 \dots n_m D^{(m-1)}h(p, p, \dots, p(m \text{ times}))$$

$\Rightarrow D^{(m-1)}h$  is Homomorphism w.r.t any variable

Finally, for the Free Monoid P on an alphabet  $\langle P \rangle$  with  $|P| \geq 2$ , gives solution of (1.5).

For  $p \in P$

$$p = p_1^{m_1} p_2^{m_2} \dots p_l^{m_l}, \quad \text{where } p_j \in P, m_j \in W \quad (3.2)$$

Define the functions T, T2, T3, for every fixed  $u \in P$  and fixed pair of distinct  $u, v \in P$ :

$$T(p; u) = \sum_{p_i=u} m_i \quad (3.3)$$

$$T_2(p; u, v) = \sum_{j < k, p_i=u, p_j=v} m_j m_k \quad (3.4)$$

$$T_3(p; u, v) = \sum_{j > k, p_i=u, p_j=v} m_j m_k \quad (3.5)$$

along (3.2). By [20, 21], the functions  $T, T_2, T_3$  are well defined. Also,  $T, T_2, T_3$  verified the following:

$$T(pq; u) = T(p; u) + T(q; v) \tag{3.6}$$

$$T_2(p; u, v) = T_3(p; v, u) \tag{3.7}$$

**Proposition 2** The following assertions true, for any fixed  $u \in P$  and fixed pair of distinct  $u, v$  in  $P$ ,

(i)  $T(\cdot; u) \in \text{Ker}D^{(m)}(P, W)$ ;

(ii)  $T_2(\cdot; u, v) \in \text{Ker}D^{(m)}(P, W)$ ;

(iii)  $T_3(\cdot; u, v) \in \text{Ker}D^{(m)}(P, W)$ ;

**Proof** From (3.6), (i) is obviously true.

For (ii). Take  $p_1, p_2, \dots, p_{m+1}$  in the Free Monoid  $P$  is of the form

$$p_1 = b_{11}^{s_{11}} b_{12}^{s_{12}} \dots b_{1l}^{s_{1l}}$$

$$p_2 = b_{21}^{s_{21}} b_{22}^{s_{22}} \dots b_{2l}^{s_{2l}}$$

$$p_3 = b_{31}^{s_{31}} b_{32}^{s_{32}} \dots b_{3l}^{s_{3l}}$$

.....

$$p_{m-1} = b_{(m-1)1}^{s_{(m-1)1}} b_{(m-1)2}^{s_{(m-1)2}} \dots b_{(m-1)l}^{s_{(m-1)l}}$$

$$p_m = b_{(m)1}^{s_{(m)1}} b_{(m)2}^{s_{(m)2}} \dots b_{(m)l}^{s_{(m)l}}$$

$$p_{m+1} = b_{(m+1)1}^{s_{(m+1)1}} b_{(m+1)2}^{s_{(m+1)2}} \dots b_{(m+1)l}^{s_{(m+1)l}}$$

$$\text{Let } S_1 = \sum_{1i < 1j, b_{1i}=u, b_{1j}=v} S_{1i}S_{1j}; S_2 = \sum_{2i < 2j, b_{2i}=u, b_{2j}=v} S_{2i}S_{2j}; S_3 = \sum_{3i < 3j, b_{3i}=u, b_{3j}=v} S_{3i}S_{3j}$$

.....

$$S_{(m-1)} = \sum_{(m-1)i < (m-1)j, b_{(m-1)i}=u, b_{(m-1)j}=v} S_{(m-1)i}S_{(m-1)j}; S_m = \sum_{mi < mj, b_{mi}=u, b_{mj}=v} S_{mi}S_{mj};$$

$$S_{(m+1)} = \sum_{(m+1)i < (m+1)j, b_{(m+1)i}=u, b_{(m+1)j}=v} S_{(m+1)i}S_{(m+1)j} \quad S_{12} = \sum_{b_{1i}=u, b_{2j}=v} S_{1i}S_{2j};$$

$$S_{13} = \sum_{b_{1i}=u, b_{3j}=v} S_{1i}S_{3j} \dots S_{1(m-1)} = \sum_{b_{1i}=u, b_{(m-1)j}=v} S_{1i}S_{(m-1)j};$$

$$S_{1m} = \sum_{b_{1i}=u, b_{mj}=v} S_{1i}S_{mj}; S_{1(m+1)} = \sum_{b_{1i}=u, b_{(m+1)j}=v} S_{1i}S_{(m+1)j};$$

$$S_{23} = \sum_{b_{2i}=u, b_{3j}=v} S_{2i}S_{3j} \dots S_{2(m-1)} = \sum_{b_{2i}=u, b_{(m-1)j}=v} S_{2i}S_{(m-1)j};$$

$$S_{2m} = \sum_{b_{2i}=u, b_{mj}=v} S_{2i}S_{mj}; S_{2(m+1)} = \sum_{b_{2i}=u, b_{(m+1)j}=v} S_{2i}S_{(m+1)j};$$

$$\dots S_{(m-1)m} = \sum_{b_{(m-1)i}=u, b_{mj}=v} S_{(m-1)i}S_{mj};$$

$$S_{(m-1)(m+1)} = \sum_{b_{(m-1)i}=u, b_{(m+1)j}=v} S_{(m-1)i}S_{(m+1)j}; S_{m(m+1)} = \sum_{b_{mi}=u, b_{(m+1)j}=v} S_{mi}S_{(m+1)j}$$

Then

$$\begin{aligned}
 T_2(p_1 p_2 \dots p_{m+1}; u, v) &= S_1 + S_2 + S_3 + \dots + S_m + S_{(m+1)} + S_{12} + S_{13} + \dots + S_{1(m+1)} + \\
 &\quad + S_{23} + \dots + S_{2(m+1)} + \dots + S_{(m-1)m} + S_{(m-1)(m+1)} + S_{m(m+1)} \\
 T_2(p_1 p_2 \dots p_m; u, v) &= S_1 + S_2 + S_3 + \dots + S_m + S_{12} + S_{13} + \dots + S_{1m} + \\
 &\quad + S_{23} + \dots + S_{2m} + \dots + S_{(m-1)m} \\
 T_2(p_1 p_2 \dots p_{(m-1)} p_{(m+1)}; u, v) &= S_1 + S_2 + S_3 + \dots + S_{(m-1)} + S_{(m+1)} + S_{12} \\
 &\quad + S_{13} + \dots + S_{1(m-1)} + S_{1(m+1)} + S_{23} + \dots + S_{2(m+1)} + \dots + S_{(m-1)(m+1)} \\
 &\quad \dots \dots \dots \\
 T_2(p_1 p_2; u, v) &= S_1 + S_2 + S_{12} \\
 T_2(p_1 p_3; u, v) &= S_1 + S_3 + S_{13} \\
 &\quad \dots \dots \dots \\
 T_2(p_1 p_{m+1}; u, v) &= S_1 + S_{(m+1)} + S_{1(m+1)} \\
 T_2(p_2 p_3; u, v) &= S_2 + S_3 + S_{23} \\
 &\quad \dots \dots \dots \\
 T_2(p_2 p_{m+1}; u, v) &= S_2 + S_{(m+1)} + S_{2(m+1)} \\
 &\quad \dots \dots \dots \\
 T_2(p_m p_{m+1}; u, v) &= S_m + S_{(m+1)} + S_{m(m+1)} \\
 T_2(p_1; u, v) &= S_1 \\
 T_2(p_2; u, v) &= S_2 \\
 &\quad \dots \dots \dots \\
 T_2(p_m; u, v) &= S_m \\
 T_2(p_{m+1}; u, v) &= S_{m+1}
 \end{aligned}$$

Therefore, we have

$$\begin{aligned}
 &T_2(p_1 p_2 \dots p_{m+1}; u, v) - T_2(p_1 p_2 \dots p_m; u, v) - T_2(p_1 \dots p_{m-1} p_{m+1}; u, v) \\
 &\quad - \dots - T_2(p_2 \dots p_m p_{m+1}; u, v) \\
 &\quad + \dots \dots \dots \\
 &\quad + (-1)^m [T_2(p_1; u, v) + T_2(p_2; u, v) + \dots + T_2(p_{m-1}; u, v) \\
 &\quad + T_2(p_n; u, v) + T_2(p_{m+1}; u, v)] = 0
 \end{aligned}$$

Hence (ii) is proved.

Similarly we can prove (iii) or directly from (3.7) we can prove (iii).

## CONCLUSION

We studied  $m^{\text{th}}$  Order Cauchy difference equation and solution has been found in Free Monoid generated by single and more than 2 character. We can extend this work to the other type Cauchy functional equations and also we can find the solution for the any functional equations in Free Semi Group and Different type of Groups.

## ACKNOWLEDGEMENT

I would like to express our sincere gratitude to our Professor Dr. K Thirusangu, for his valuable guidance and support throughout the research process. His expertise and insights were invaluable in shaping our research and helping us to overcome challenges.

## REFERENCES

- [1] Aczel, J: Lectures on Functional Equations and Their Applications. Academic Press New York (1966). <https://doi.org/10.1002/zamm.19670470321>
- [2] Baron, K. Kannappan, P: On the Cauchy difference, *Aequ. Math.* 46 (1993), 112–118. <https://link.springer.com/article/10.1007/BF02215964>
- [3] Chung, J.K., Kannappan, PL, Ng, C.T.: On two trigonometric functional equations. *Math. Rep. Toyama Univ.* 11 (1988), 153-165.
- [4] Chung, J.K., Kannappan, PL, Ng, C.T.: A generalization of the cosine-sine functional equation on groups. *Linear Algebra Appl.* 66 (1985), 259-277. [https://doi.org/10.1016/0024-3795\(85\)90137-5](https://doi.org/10.1016/0024-3795(85)90137-5)
- [5] Ebanks, B: Generalized Cauchy difference functional equations, *Aequ. Math.* 70 (2005), 154–176. <https://link.springer.com/article/10.1007/s00010-004-2739-5>
- [6] Ebanks, B: Generalized Cauchy difference functional equations, II *Proc. Am. Math. Soc.* 136 (2008), 3911–3919. <https://www.ams.org/journals/proc/2008-136-11/S0002-9939-08-09379-9/S0002-9939-08-09379-9.pdf>
- [7] Ebanks, B., Stetkaer, H.: d'Alembert's other functional equation on monoids with an involution, *Aequat. Math.* 89(1), 187-206 (2015). <https://link.springer.com/article/10.1007/s00010-014-0303-5>
- [8] Faiziev, V.A., Sahoo, P.K.: Solution of Whitehead equation on groups. *Math. Bohem.*, 138(2), 171-180 (2013). DOI:10.21136/MB.2013.143289
- [9] Gilbert, W.J.: *Modern algebra with applications*, John Wiley and Sons, New York-Toronto, (1976)
- [10] Guo and Li: Solutions of the third order Cauchy difference equation on groups, *Advances in difference equations* 203 (2014). <https://doi.org/10.1186/1687-1847-2014-203>
- [11] Hensers, K.J.: A characterization of Cauchy kernels, *Aequat. Math.* 40 (1990), 281-306. <http://doi.org/10.1007/BF02112301>
- [12] Hensers, K.J.: Another logarithmic functional equation, *Aequat. Math.* 58 (1999), 260-264. <http://doi.org/10.1007/s000100050112>
- [13] Henrik Stetkaer: *Functional Equations on Groups*, World Scientific Publishing, (2013), First Edition.
- [14] Henrik Stetkaer: The kernel of the second order Cauchy difference on semi-groups. *Aequat. Math.*, (2016) <https://doi.org/10.1007/s00010-016-0453-8>
- [15] Li, L., Ng, C.T.: Functions on semigroups with vanishing finite Cauchy differences. *Aequat. Math.*, 90(1), 235-247, (2016). <https://doi.org/10.1007/s00010-015-0403-x>
- [16] L. Solomon: The solution of equations in groups, *Arch. Math.*, 20, (1969), 241-247. <https://doi.org/10.1007/BF01899292>
- [17] R.C. Lyndon, M.P. Schutzenberger: The equation  $a^m = b^n c^p$  in a free group, *Michigan Math. J.*, 9, 289-298, (1962). DOI: 10.1307/mmj/1028998766
- [18] J Madhusudana Rao and A V Ramakrishna: On Embedding a Semigroup in a Group. *Resonance*, 740-752, (2014). <https://www.ias.ac.in/article/fulltext/reso/019/08/0740-0752>
- [19] Ng, CT, Zhao, H: Kernel of the second order Cauchy difference on groups, *Aequat. Math.* 86 (2013), 155–170. <https://doi.org/10.1007/s00010-012-0174-6>
- [20] Ng, CT: Jensen's functional equation on groups, *Aequ. Math.* 39 (1990), 85– 99. <http://eudml.org/doc/137340>.
- [21] Ng, CT: Jensen's functional equation on groups II, *Aequ. Math.* 58 (1999), 311–320. <https://doi.org/10.1007/s000100050118>
- [22] K Thangavelu and M Pradeep: Solution of the Fourth order Cauchy Difference Equation on free groups. *Global Journal of Pure and Applied Mathematics*, 11, Number 6 (2015), 4487-4499. <https://www.ripublication.com/Volume/gjpamv11n6.htm>
- [23] K Thangavelu and M Pradeep: Solution of the Higher order Cauchy Difference Equation on free groups. *Global Journal of Pure and Applied Mathematics*, 13, Number 8 (2017), 4141-4151. <https://www.ripublication.com/Volume/gjpamv13n8.htm>
- [24] Tero Harju, Dirk Nowotka: The equation  $a^m = b^n c^p$  in a free Semigroup, *TUCS Laboratory, Discrete Mathematics for Information Technology*, (2003). <https://api.semanticscholar.org/CorpusID:15986316>